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== i Sk | PERR (kg) &% (M) EE | TE 2 | e H (BEAL)
Y3002 =74 (&H4r) ‘ 13 7,808 1,296/ 238 162 | BN 13kg |
Y3011 BAM (&) 16 11,443 | 810 810 162 | B 16kg
34300 72 24| 2,916 25 25 24 | B 120K
34100 HHK R 60 8, 640 32 97 27| BH 300K
34200 {5 | 117 15,714 162 162 86| &M 17kg |
34500 E—< 7 1,080 162 162 108 | B Tkg
Y3033 | ZEMAL 74 12, 007 184 173 130 | &Y T4kg
36200 H4HE ] 40, 2,592 65 65 65| &M 40kg
36600 T EE 40 3,240 86 86 6| B 40kg
34930 LA T 21 1,256 32 32 1 69k
34980 | ~bH % 20 217 | 22 1 1 B 68k
35940 AETEACAE 196 92, 176 605 432 378 | BN 196kg
34800 < 6 - 7] 4,471 65 65 65 BN 69% v h
48000 v | | ] 15 1, 944 648 648 648 | BN 3
Y4010 [/NEFVA 68 17, 010 540 540 324 | B 34{H
V4003 —a— ATy 11 3,154 97| 97 76 | B 361
49470 Sy g v T o 60 34,193 151 43 38 BN 596{H
71010 K% 19, 278 54 49 13| BH 4004
71011 | A7 L—5 9, 731 59 43 36| BN 200K
71030 RS EF 1,728 43 43 43 BN 404 |
71040 ENE 2, 462 65 65 65 | BN 384
71150 | LiT 1, 069 32 39 32 BMN 33
21179 ¥ h ¥ ) 216 108 54 54 BN 3%
21184 fE=va v 2, 754 43 38 22| BN 904
53101 1E L AR g 2,214 1,188 1,080 1,080 &M 2kg
30100 72WVWZ A L 30 2,916 97 97 97 | bt 304
30300 A% L 50 7,884 1,836 1,836 1,188 H#E 5 —2%
30400 ZIEH M 7 2,074 86 86 86 IR B 244%
31100 EE R 75 3,780| 1,080 648 648 EH  5h—x
33810 HAEE 4,320 108 108 108 | R B 4058
Y5005 4 7KEA 1,534 1,534 1,534 1,534 | K5y 1 —2
31700 F Ny 90 2,916 432 432 216 | LifEsE 94— A
31700 | % XY 100 2, 754 540 162 162 | BEE 107 — =
31700 F xRV 10 432 432 432 432 | B L& —4
31730 | U —rR— L 30 2, 268 756 756 756 | £ BF 37 —2
31800 1F 5 A ’ 6 4, 536 151 151 151 | 4G [ 3048
31950 BRF L 9 2, 160 756 756 648 | B8 15 2 34— 2
31900 H X 5 3, 024 432 324 34| ERA 93 (5009)
31930 ZH¥ 3 2, 268 76 76 76 | 1@ 304
32800 | i & 9 1,793 43 27 3| B 905k
34300 7o R 25 6,156] 1,296| 1,188 1,188 REA 5r—=
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fh4 = B Fe k% 28
=2 B, s | k| (e &#(M) il | sl | EH (D)
34400 k= k 7 2,851 119 119 119 | g 248y 7 |
34400 k= k 24 | 7,128| 1,188| 1,188 1, 188 | K% 6r—2 |
34460 I =L L 1 7,339 140 140 124 |REAR 548y 7
34100 A/ o 2L 15 1, 620 540 540 540 | H 5 Br—n |
34571 ST U S () - 2] 648 65 65 65 | #[E 101

34572 RFU A (&) 432 43 43 43 | S [E 10

Y3091 | H S5 —E—< 1 10 5, 400 108 108 108 | K4y 5048

36600 7-EE , 200 0,180 1,620 756 432 | e 105 —2 |
37200 L x 9 A8 2L 8 3,024 1,728 1,728 1,296 |HE 2 — R
33400 L ¥ 24 5,184 108 108 108 | & B 48{@

33410 F=—L &R L 3 1,512 1,512 1,512 1,512 |E% 15r— A
33410 |[Y=—L & = L 6 810 27 27 27| BB 3018

Y3092 |~ —Y —7 4 2, 592 130 130 130 IR B 2048

32900 & U — 2 292 216 76 76 | BB oA

33600 St U 1 97 54 29 22 | g 348

33300 Tyl — 5 1, 458 81 81 81| E & 1818

38100 £ L\ /=it 6 2, 484 76 29 22 | m I 60/%y 7
31310 AT b 1, 080 43 43 43 | tE [ 2548

31500 /MAZE B 15| 3,132 65 65 22 | fE M 7545

32500 &3 - 2 1,166 65 65 65 | K4y 8%
36700 |2 AdZ< 10 3,272 356 356 292 |t 10% v b
37560 |BBIT 1 3,737 432 389 324 | K4y 105y
38604 T L XF "3 1,782 59 59 59 | £ 3043

YA008 N RBDA 7 5, 465 238 238 238 |- 2375y
Y4001 JRE A1y 4 3, 024 756 756 756 | AL ifEE A&

Y4003 |ma— ATy 4] 1,404 108 108 108 | B IR B 13(@

49100 SFF 180 21,492 1,944 1,296 1,080 | 74 UEL 164 —3%
49430 ~ o — 7 9,396 1,404 1,318 1,318 | {8 For— |
Y5006 EBIR (B4) 100 27,929| 2,938| 2,786 2,765 B 10— 2
Y5006  FEER (B4) 56 14,105 185 185 151 | RS 80,3 v 7
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